
Coat ack



x10+1 x14+2 x8+1 x8+1

x8+1 x8+1 x1

x1

x9 x1 x1 x

x8+1x8+1

x14+1

M1 x1M2 N O

P

1

2

3

5
6

7

8
9

10

11

12

13

14

15
16

1718

19

2021
22

23

24

4

4

7

M6x35 M6x25 M6x10 5x40 5x50

3x12 6x306x35 15x10

M3x57 M4x57

x18+2

3x14 4x16

Q x1R



X1

X1X2

X1

X1 X1 X1

X1 X1 X1

X1 X1 X1

X1 X1 X1

X1 X1

X2

17 18

2019 21

2322 24



C x2O

C

2

4

C x2O

C

3

4



Q x8

Q
Q

Q
Q

L
L

L
L

L x4

10

L

K

Q x10

Q
Q

Q
Q

Q

L
L

L
L

L

L x5

9

L

K

O

O



B x4
O

B

B

B

B

B

7

7 11

E x12
N

12

2

9

10

E

E

E

E

E

E

3

GAUTION:When tightening the screws,tighten sequentially.
Do not tighten any screws fully and then towards the next one.
When every part is OK,then tighten all the screws.



A

A

A

A

B

B
8

5

B x2
O

GAUTION:When tightening the screws,tighten sequentially.
Do not tighten any screws fully and then towards the next one.
When every part is OK,then tighten all the screws.

A

A

A

A
11

A x4
O

A x4

GAUTION:When tightening the screws,tighten sequentially.
Do not tighten any screws fully and then towards the next one.
When every part is OK,then tighten all the screws.



A x2

O

C x2

C

A

A

C

O
C x2 E x2

N

C

E

E

C

1

6

13



M1

M2

16

17

F x4M1 x1

F

F

F

F

F

M2 x1

I x4 G x4

14

I I
I IG

G

G
G

G I

O

O



10

STEP 13

STEP 14

1617

14

H x4

H

H
H

H

H

18

O



11

STEP 15

STEP 16

I x4N D x4

I
I

I I

D
D

D
D

15

N D x4

21

22

20

D
D

D
D



12

STEP 17

STEP 18

23

G x4

G

G
19

O



13

STEP 19

STEP 20

J x1

R x1

R

J
19

H

H

H

H

H x4

19

21

22

O

O



14

STEP 21

STEP 22

F x4M2 x1

F

FF

F
M2

M1

19

23

M1 x1

B x8O

B

B
B

B

B

B
14

O

F

F



15

STEP 23

STEP 24

24

P x1

P

     Note that when the 
drawer is installed, it is 
inclined upward and the 
bottom wheel of the drawer 
is stuck in the rail grooves.

Feet can be adjusted


